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A leverage ratio 
 

ةیلاملا ةعفارلا ةبسن  
 

A leverage ratio is any one of several financial measurements that look at how 
much capital comes in the form of debt (loans) or assesses the ability of a 
company to meet its financial obligations. The leverage ratio category is 
important because companies rely on a mixture of equity and debt to finance their 
operations, and knowing the amount of debt held by a company is useful in 
evaluating whether it can pay off its debts as they come due.  
 
Too much debt can be dangerous for a company and its investors. However, if a 
company's operations can generate a higher rate of return than the interest rate on 
its loans, then the debt may help to fuel growth. 
 

 لكش يف يتأی يذلا لاملا سأر رادقم يف ثحبت يتلا ةدیدعلا ةیلاملا سییاقملا دحأ يھ ةیلاملا ةعفارلا ةبسن
 نلأ ةمھم ةیلاملا ةعفارلا ةبسن ةئف ربتعت .ةیلاملا اھتامازتلاب ءافولا ىلع ةكرشلا ةردق میقی وأ )ضورق( نید
 ھب ظفتحت يذلا نیدلا رادقم ةفرعمو ،اھتایلمع لیومتل نویدلاو مھسلأا نم جیزم ىلع دمتعت تاكرشلا
    .اھقاقحتسا دنع اھنوید دادس اھناكمإب ناك اذإ ام مییقت يف دیفم ةكرشلا
.                                                                                                                        
 دلوت نأ نكمملا نم ناك اذإ ،كلذ عمو .اھیرمثتسمو ةكرشلا ىلع ةروطخ لكشی نأ نكمی نویدلا نم ریثكلا
 زیزعت يف نیدلا دعاسی دقف ،اھضورق ىلع ةدئافلا لدعم نم ىلعأ دئاع لدعم ةكرشلا تایلمع
                                                                                                                           .ومنلا

 
Leverage Degree Analysis 
 
A lever is defined as the extent to which profits can be increased in an enterprise 
as a result of increased reliance on fixed costs or borrowed funds or together. 
Thus, the concept of crane covers three main areas: 
1. Operational leverage: It is linked to the cost structure. 
2. Financial leverage: It is linked to the financing structure. 
3. Common leverage: A combined result of the operational and financial 
leverage. 
 
1-Operating Leverage 
 
The operating leverage is concerned mainly with fixed costs as the cost incurred 
by the firm in a continuous manner regardless of the volume of production and 
sales. Thus, the share of fixed unit costs will decrease when the production 
increases. This will result in additional net profits. The variable costs are directly 
related to the production. The share of a unit of variable costs remains constant 



as production levels change and the price is associated with the policy of the firm 
and often by factors beyond control. 
 
Therefore, the efficiency of the operational leverage is related to the maximum 
utilization of available operational capacity to increase production and thus 
increase sales. Therefore, the operational leverage measures the degree to which 
the change in operating profit responds to the change in sales and accordingly: 
Operational leverage is defined as the extent or percentage of increase in profits 
use fixed costs. 
 

  ةیلاملا ةعفارلا ةجرد لیلحت
 فیلاكتلا ىلع دامتعلاا ةدایز ةجیتن ةسسؤم يف حابرلأا ةدایز ھب نكمی يذلا ىدملا اھنأب ةعفارلا فرّعُت
 :ةیسیئر تلااجم ةثلاث يطغی ةعفارلا موھفم نإف ،يلاتلابو .اعًم وأ ةضرتقملا لاوملأا وأ ةتباثلا
 .ةفلكتلا لكیھب ةطبترم يھو :ةیلیغشتلا ةعفارلا .1 
 .لیومتلا لكیھب ةطبترم يھو :ةیلاملا ةعفارلا .2 
 .يباجیا ریثأت ةیلاملاو لیغشتلل ةكرتشم ةجیتن :ةكرتشملا ةیلاملا ةعفارلا .3 
 
                                                                                                              ةیلیغشتلا ةعفارلا
 ةرمتسم ةقیرطب ةكرشلا اھدبكتت يتلا ةفلكتلا لثم ةتباثلا فیلاكتلاب يساسأ لكشب ةیلیغشتلا ةعفارلا قلعتت
 دیزی امدنع ضفخنتس ةتباثلا ةدحولا فیلاكت ةصح نإف ،يلاتلابو .تاعیبملاو جاتنلإا مجح نع رظنلا ضغب
 ةصح لظت .جاتنلإاب ارًشابم اًطابترا ةریغتملا فیلاكتلا طبترت .ةیفاضإ ةیفاص حابرأ ىلإ اذھ يدؤیس .جاتنلإا
 لماوعب ابًلاغو ةكرشلا ةسایسب رعسلا طبتریو جاتنلإا تایوتسم ریغت عم ةتباث ةریغتملا فیلاكتلا نم ةدحو

.ةرطیسلا نع ةجراخ  
 

 يلاتلابو جاتنلإا ةدایزل ةحاتملا ةیلیغشتلا ةردقلل ىصقلأا مادختسلااب ةیلیغشتلا ةعفارلا ةءافك طبترت ،كلذل
 يلیغشتلا حبرلا يف رییغتلا اھب بیجتسی يتلا ةجردلا سیقت ةیلیغشتلا ةعفارلا نإف ،كلذل .تاعیبملا ةدایز
                                                                                                         :يلاتلابو ،تاعیبملا يف ریغتلل

                                                                                            
.ةتباثلا فیلاكتلا مدختست حابرلأا يف ةدایزلل ةیوئملا ةبسنلا وأ ىدملا اھنأ ىلع ةیلیغشتلا ةعفارلا فیرعت متی   
 
 

Determine the operating leverage by the following equation:  
Operational leverage  
 
                                                     Contribution return 
 Operating leverage=  
                                          net operating profit before interests and taxes  
 
This means that any change in the number of units sold will result in a positive 
(or negative) change in the net profit, so that the operational leverage is a key 
indicator of what is known as business risk or operational risks. 

 



 ةدایزل ةحاتملا ةیلیغشتلا ةقاطلا نم ىوصقلا ةدافتسلاا ىدمب يلیغشتلا عفرلا ةجرد ةیلاعف تطبترا دقف كلذل
 يف ریغتلا ةباجتسا ىدم ةجرد سیقت ةیلیغشتلا ةعفارلا ةجرد نإف كلذل ،تاعیبملا ةدایز يلاتلابو جاتنلإا
 ةدایزلا ةبسن وأ ىدم ھنأب يلیغشتلا عفرلا فرعی ھیلع اءانبو تاعیبملا يف لصاحلا ریغتلل يلیغشتلا حبرلا
:ةیلاتلا ةلداعملاب يلیغشتلا عفرلا ةجرد دیدحت ..ةتباثلا فیلاكتلا مادختسا ةجیتن حابرلأا يف  
 

   ةمھاسملا دئاع                                                              
= ةیلیغشتلا ةعفارلا   

بئارضلاو دئاوفلا لبق لیغشتلا حابرأ يفاص                                                 
 

 يف )بلاس وأ( بجوم يبسن ریغت ىلا يدؤی فوس ةعابملا تادحولا ددع يف ریغت يا نا ينعی اذھو
 وأ لامعلأا ةرطاخمب فرعی امل ایسیئر ارشؤم دعت يلیغشتلا عفرلا ةجرد ناف كلذبو حابرلأا يفاص
.يلیغشتلا رطاخملاب  

 
Another method to calculate the operating leverage by using profit as a 
percentage of sales is to what extent the change in the operating profit of the 
change in sales is accounted for by the following equation: 

 

If we assume that the change in sales is 10%, any that year's sales are more than 
10% sales last year, leading to a 20% change in profits before interest and taxes, 
the operational leverage level is 2. 

 ىدم يأ ىلإ يھو تاعیبملا نم ةیوئم ةبسنك حبرلا مادختساب ةیلیغشتلا ةعفارلا باسحل ىرخأ ةقیرط كانھ
:ةیلاتلا ةلداعملاب تاعیبملا يف ریغتلل يلیغشتلا حبرلا يف رییغتلا باسح متی : 

 

 ماعلا تاعیبم ٪10 نع دیزت ماعلا كلذ يف تاعیبم يأ نإف ،٪10 وھ تاعیبملا يف رییغتلا نأ انضرتفا اذإ
 ةعفارلا ىوتسم نوكی ،بئارضلاو دئاوفلا لبق حابرلأا يف ٪20 ةبسنب رییغت ىلإ يدؤی امم ،يضاملا
 .2 ةیلیغشتلا

 

Operating profit change ratio 
 

    Sales change ratio 
 

If we assume that the change in sales is 10%, any that year's sales are more than 
10% sales last year, leading to a 20% change in profits before interest and taxes, 
the operational leverage level is 2.  



 ىدم يا تاعیبملا نم ةبسنك حبرلا مادختساب يلیغشتلا عفرلا ةجرد باستحلا ىرخأ ةقیرط كانھو
:ةیلاتلا ةلداعملا ةطاسوب تاعیبملا يف ریغتلل يلیغشتلا حبرلا يف ریغتلا ةباجتسا   

يلیغشتلا حبرلا يف ریغتلا ةبسن  

 

تاعیبملا يف ریغتلا ةبسن  

 ةنسلا تاعیبم نع دیزت ةنسلا هذھ تاعیبم نأ يأ %10 تاعیبملا يف ریغتلا ةبسن نا انضرتفا اذاف 
 ناو ،بئارضلاو دئاوفلا لبق حابرلأا يف %20 ریغت ةبسن ىلا يدؤت كلذ ناف 10% ةبسنب ةیضاملا
.2 نوكی ةیلیغشتلا ةعفارلا ىوتسم  

 

2-Financial leverage 

A financial leverage is defined as the extent or proportion of the increase in profits 
as a result of the use of the money of others in the business of the firm. The effect 
of the financial leverage is positive on the return if the management of the entity 
succeeds in investing the borrowed funds at a rate of return that exceeds the 
interest paid on them. In other words, a financial leverage is in favor of the 
company if the rate of return on investment is greater than the interest rate and 
vice versa, and thus the financial leverage is related to the financial risks. 

	

                                   Net profit before taxes and interest  

Financial leverage= 

                Net profit before taxes 

 

 يف ریغلا لاومأ مادختسا ةجیتن حابرلأا يف ةدایزلا ةبسن وأ ىدم اھنأب ةیلاملا ةعفارلا فرعت :يلاملا عفرلا
نوكیو .ةأشنملا لامعأ  

 دئاع لدعمب ةضرتقملا لاوملأا رامثتسا يف ةأشنملا ةرادإ تحجن اذأ دئاعلا ىلع اباجیإ يلاملا عفرلا ریثأت
 ىلع دئاعلا لدعم ناك اذإ ةكرشلا حلاصل نوكی يلاملا عفرلا نأ يأ , اھیلع ةعوفدملا ةدئافلا نع دیزی
.ةیلاملا رطاخملاب يلاملا عفرلا طبتری كلذبو ،سكعلاب سكعلاو ةدئافلا لدعم نم ربكأ رامثتسلاا  

 

 



بئارضلاو دئاوفلا لبق عبرلا يفاص  

                                                                                          =يلاملا عفرلا ةجرد

بئارضلا لبق حبرلا يفاص  

     

3-Common leverage (Total) 

 
A common leverage is defined as the extent or proportion of the increase in  

profits due to the optimal use of fixed costs and the use of borrowed funds in 
operations. Therefore, the common leverage arises from the combined effect of 
both the operational leverage and the leverage so that it reflects the combined 
effect of the business risk and the risk of borrowing. Accordingly, the common 
leverage is a measure of the overall risk of management and shareholders.  

The common leverage is measured by the following equation:  

Common leverage = Operational Leverage Degree× Financial Leverage 
Degree               

:)يلكلا وأ( كرتشملا عفرلا   

 ةتباثلا فیلاكتلل لثملأا مادختسلاا ةجیتن حابرلأا يف ةدایزلا ةبسن وأ ىدم اھنأب ةكرتشملا ةعفارلا فرعت
 لكل كرتشملا ریثأتلا نم أشنت ةكرتشملا ةعفارلا نأف يلاتلابو .تایلمعلا يف ةضرتقملا لاوملأا مادختساو
 رطاخم نم ةأشنملا ھجاوی نكمی يذلا دحوملا رثلأا سكعت ثیحب ةیلاملا ةعفارلاو ةیلیغشتلا ةعفارلا نم
 ةطیحملا ةیلكلا ةرطاخملل اسایقم كرتشملا عفرلا ةجرد دعت ھیلع اءانبو ،ضارتقلاا رطاخمو لامعلأا
.نیمھاسملاو ةرادلإاب  

Example: 

The sales of the Company (Alaa) were (400,000) IQD. The variable costs of 
these sales amounted to (150,000) IQD. The fixed costs were (50,000) IQD 
and the interest was 10,000 IQD. 

Required: Prepare an Interpretation and analysis of: 

1. Operational Leverage Degree.  

2. Financial leverage Degree. 

3. Common leverage Degree. 



Answer: 

                                                                           Contribution return  

1. Operational Leverage Degree =  

                                                  net operating profit before interests and taxes 

 

                                             (400,000 – 150,000) 

                                 DOL =                                                                                    

                                                                400,000 – (50,000 + 150,000)  

                                             (250,000) 

                                  DOL =                                            

                                            (200,000) 

                                 DOL =                               1.25 times   

 

This means that each change in the number of units sold by one unit will result in 
a positive net change in net profits of 1.25 times. 
 

 يفاص يف يباجیإ ریغت يفاص ھنع جتنیس ةدحاو ةدحوب ةعابملا تادحولا ددع يف رییغت لك نأ ينعی اذھ
.ةرم 1.25 رادقمب حابرلأا  
 

 

 

 

 

 

 



                                       Net profit before taxes and interest  

2-Financial leverage = 

                     Net profit before taxes 

 

 

         400,000 – (50,000 + 150,000) 

2-Financial leverage = 

            400,000 – (50,000 + 150,000+10,000) 

 
200,000 

2-Financial leverage =  =1.05 times 

             190,000 
 
 

Since the degree of leverage is positive and greater than the right one, it means 
that the decision of the firm to invest in borrowed money was a sound and feasible 
decision, it was able to achieve a profit that covers the interests of debts and 
achieve a net profit. 
 

 
 ةكرشلا رارق نأ ينعی اذھف ،ةحیحصلا ةجردلا نم ربكأو ةیباجیإ ةیلاملا ةعفارلا ةجرد نلأ ارًظن
 نویدلا دئاوف يطغی حبر قیقحت نم تنكمت دقف ً،انكممو امًیلس ارًارق ناك ةضرتقملا لاوملأا يف رامثتسلااب
.حبرلا يفاص قیقحتو  
 
 

3- Common leverage Degree= Operational Leverage Degree× Financial 
Leverage Degree. 
 
 
DCL = 1.25 × 1,05 = 1.31 times 
 
In this case the company has achieved a degree of operational leverage positive 
as well as the degree of financial leverage positive, the degree of common 



leverage will be affected by both grades, which led to a positive degree of 
common leverage also. 
 

 
 ةیلاملا ةعفارلا ةجرد ىلإ ةفاضلإاب يباجیلإا يلیغشتلا ذوفنلا نم ةجرد ةكرشلا تققح ،ةلاحلا هذھ يف
 ةعفارلا نم ةیباجیإ ةجرد ىلإ ىدأ امم ،نیتجردلا لاكب ةكرتشملا ةیلاملا ةعفارلا ةجرد رثأتتسو ،ةیباجیلإا
.اضًیأ ةكرتشملا ةیلاملا  


